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N ote. This question paper contains two parts A and B
s Dart Ads compulsory which carries 25 marks. Answer angpesﬂonsm Part A.,

Part ‘B consists of 5 Units. Answer any one full” question from each unit,
. Each quest:lon carries 10 marks and may have a, b, ¢ as sub questlons _

N R s PART-A 1 25 Marks}: e
l.a) Determine the possible base of the numbers in the operauon 302/20= 12 1. ) [2] '

b) Reduce the expression A'B(D'+C'D)+B(A+A'CD) to one ‘!I}:Cral . 31 e
& Whatfte static h’azards 7 ¥ ET N v I
~d)  Construct full adder using decoder, ' - 3]

: _e) - What is the dlfference between characterxstlc table and exmtatlon tabie? -2}
& B

rovide a clock with cycle time of S
ses atafrequency of 80 MHz‘? o N 2]
#O[3] #R
2
entional flow chart with respect-
- [50 Marks]
operations inghinary using signed : 25 complement : *
representatmn for ers (i) (+62) + (-23) (i) (—62) (-23).

¢) Encode the info er 01101110101 according to the 15 bit Hamming,.
,,,,,,,,,,, [244+4]
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~ 4.3) For the functlon F(w,x ,y,z) 3(1,2,3,5,13) + Y.0(6,7,8, 9 11 15) fmd the mlmmal sum

& of preducts andsproduct ofisums expeéssion. & B ey &
b)  Implement the function F(A,B,C,D)=Y (0,1,3,4,6,8, 15) usmg 4x1 MUX. [5+5] ‘
' : OR
- 5.a) Demgn a 3-1np1_1ktmma_]or1ty clremt using Multiplexer whose output is equal to ;1’1f the.
LA mput”vanables Have more™t's than 0'S™The outphit is 0 ofHétwise. = ik B
~ b)  Find the min terms of the function wxy+x'z+w'xz by plotting the functlon in a map.
- R ST B
'6.a); Compare Sequemlal and Gembinatignal cucuﬂ;géh G Bt o
- b). De51gn aJK ﬂlp-ﬂop using Dﬂlpﬂop 2-to-1 line MUX and mverter [4+6]
: OR '




-

7.8):  Whatis the difference between a latglggaﬁd flip-flop? o
b) EXPlaiﬂ the positive edge triggered D flip-flop with asynchronous reset. . [4+6]

A sequenual circuit with two D ﬂlp-ﬂops A and B, two inputs x and y; and one output
z is specified bFFA(t+1)=%5-+xA, B(ﬁl)‘x‘B-f-XA z=B. F)raw the Jogic diagfdm and
list the state table. Draw the state diagram. E o
What is a universal sh1ft.reglster? ' L [8+2]
_ OR : - . o

_ De51gn a counter using T 1p—ﬂops “With repeated sequence 0 1, 3 7,64,
Show that a Johnson counter with n flip-flops produces a sequence of 2n states. [5+5]

103 Dravithe multifovel NANDcircuit f6fcxpressich. F =( AB!-+CD' )B4 BC(A e“y)
b) Reduce the given expression to a minimum number of literals:
1) (BC'+ A’D) (AB'+ CD')

OR

[6+4]

B




